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(2. | Altempt any six parts. o | 12=2«6 F _,z{{}_’tugch‘jfl 2/&.,.
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(i) If 4 =[.—':' find the valun ;)f A l:z} : ..::Er}"..,»d 'H{ ;]? A [ j:’l (i)
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G [If z=2+i findz+2 e dd s 05 7 =oldd i LR |

{iv) | Define Jogarithm of 2 real number. _vl_b/f__,./\Jf}fJb e | V)
(V) Caleulate mlog32 x log, 81 - b o log, 2 x log, 81 . Jpdad W
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(vii)) | Fuctorize 128m* - 2420 128m° - 2420° 167 | | [
(W) | Factorize x* +14x+48 ¥ +14x+43. LAF e
3. | Attempl any six parts, 12=246 é:g/..&l.x&lﬂra.{(f _3/,2|_},,,
(i) | Use lactorization ta find the square root of the exprossion RO Y R LA (i)
ax’ —l:!xy-.f)y“. Azt =122y +9y"
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(iii) T Solve the incquality, —4 < 3x~5 <8 —4<+5<8 i Putiad | ()
"iv) | Find the values of m and ¢ of th line by expressinginthe |, _;,_.;__;_,f‘,‘a;__ﬂ y=mx-l-he:¥'-_~':l—m?l-’» (v
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v} | Draw the graph of 3p-1=0 _ ) T N bt /¥ 3y-1=0uti- )
_F_{'Vi) Find the distance between the points A(-4,-3), B(57) | gL L n Lo L 46 (vii
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| ® | 1n the figure CDis right bisector R | ¥ABeSCDASES : .
of ling segment A8 . (f mAB= 6cm | A LB m AR = 6cm ,.’:‘,T__a-atd.‘.»f
I then find m AL and mLB i 4 ‘,»-’! o mLB »mALix .
i'_ (i) | 3cm, 4cnrand 7cm are not lengths of :’he triangle, Justily. Ui L £ st o Tem . dem -'k,m I (i) |
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| i Define Ratio. o Loy e | )
(i) | Verify that the measures of sides are right angle of not. -Vc?'h.‘.--wl.ﬂauw' bt Sl gs L (V)
e a a=16cm, b= _:Ocm c=34cm
(v) | Find the unknown value of [ § 'xfr':“"-‘:.."'r.fﬂ () |
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(vii) | Find the area of the figure. ) e ' | A (vil)
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(viii} | Define incentre. Al s _Jdu;.u-l (viii)
(ix) Constfuct a AXYZ | in which FoASbAXYZ | X
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NOTFE: | Attempt any three questions but 24=8x3 e §9 AP FedlnLipmief e dd | ed
_ | question No.9 is compulsory. - g
5(A) | Solve the system of lincar cquations by the Cramer’srule. | £ e, Cods s SV nal Uinie 2 | (L.
x+y=7, Ix-y=6 l
. x+y=7, 3x-y=6 ]
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6.(A) | Use log table ta find the value of ¥2.709 x 1.239 -ﬁé-[’rl"":—:":c-.udtd:qr;‘xl'! [ 1 W
Y2.709 < §1.239
(B) 1 [
If 4x 4 —~ =5, then find the value of 64x> + 6z +—— dudx s w5 i | P
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7(A) | _F:_:;:-l'bri.zc the polynomial by factor theorem. ST T MG L | (LT
*+x'-10x+8 G . |
2 +x —10x+8 |
(B) | Find the H.CF by factorization. o Puiian| O
3 2 g 2 3 3 '
§=Bh Eronehl. 218 #-27, B +6x-27, 25 -18
8.(A) 17 o - 371 % I S ¢
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(B) | Construct APQR and draw its altitudes. EEEAL et APOR
mPQ = 6em, mQOR= 4.5cm, mPQ = 6em, mQR= 45cm.
mPR =55¢m mPR = 5.5cm ()
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" are coneurrent,
OR L g
i Prove that triangles on the same base o e 2l S 2 DB ALt 'n‘(‘,',hgpﬁa Flir uﬂfé_rl- |
and of the samc (i.c. equal) altitudes are equal in arca. N

31.2024(1"-A)-88000 (MULTAN)




